Nuclear Medicine Instrumentation, Second Edition
ERRATUM
p. 14, last paragraph of Sample Calculation 1-3: greatest deviation is 1.2% (not 1.1%)
[bookmark: _GoBack]P. 41, Fig. 4-1a: X axis label should be “Ni (increments are 1% of mean)”
P. 43, Equation 4-7: xi in the equation to Ni
p. 50, left-hand column: in the 6th line from the bottom, there is an extra “>1” that should not be there.
p. 74, Sample Calculation 6-3: no parentheses around “cts/cm2” in third line.
p. 238 last line of calculation “= 6 cm” (not 12 cm)
p. 315 – legend for Fig. B-11 has a reference to Fig. B-10b, should be Fig. B-11b
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